DGRV ERHNCIVIINNED $.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ WA XV A N O NN X B 0 N I O 1 D706
Real02 Answers for No.9395

b=(x+2)(x+1) (¥ =x+1)
T=(x+2)(2x+5)(2x-1)
LE=(x+2)(x+3)(3x+5)(5x+1)]

:D
dA=(x=5)(x+5)(x+2) M

2=(x-1)(x+1)(x=3)(x+3) a

d=[r=2] I=[m=9] 3=(x-1) (P +x+1) ¢
_|2=[r=-5] | 2=[m=0] B A=(x-1)(x+1)(x*+1) h
AnsI=l 3 tr=a1] 425 sotm=-41 | T scGre)aes) e -1) | | @
4=[r=4] 4=[m=1{-6,5}] M
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Real02 Answers for No.9419

O=x+3)(x+1)(x-3)(x—-4)
J=(x+1)(5x-3)(3x-4)
L8=(x+2)(x-2)(3x-2)(4x—-1)]

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KKKKKXKKKKKKK XXX XXX KKK KKK KKK KK KKK KKKKKK

:D
A=(x-2)(x+2)(x+4) M

2=(x-2)(x+2)(x=5)(x+5) a

1=[r=20] d=[m=0] 3=(x-1)(x*+x+1) t
|.2=[r=18] _| 2=[m=4] _ A=(x=2)(x+2) (X +4) h
A= 5o M o= 2,600 T o) (Po2xsy || @
4=[r=-1] 4=[m=-14] M

U

T

D

I
L
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Real02 Answers for No.9428

A=[r=6]
|.2=[r=-4]
Ansl = 3=[r=3])
A4=[r=-T]
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Real02 Answers for No.9459

A=[r=5]

| 2=[r=4]
Ansl = 3=[r=2]f
A4=[r=-5]

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXKKKKXKXXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KK KKK KKKKKK

Ans2 =

d=[m=3]

2=[m=-3]

3=[m=-7]
d=[m=1{-7,6}]

d=[m=2]

2=[m=0]

3=[m=-6]
A=[m=1{2,7}]

b

M

Ans3 =

Ans3 =

d=(x-1)(x+1)(x+2)
2=(x-3)(x+3)(x—4)(x+4)
3=(x+5)(x*=5x+25)
4=(x=3)(x+3)(x*+9)
S=(x+3)(x+ 1) (X +3x+1)
O=(x+5)(x+2)(x—1)(x—4)
J=(x+3)(3x+1)(2x-5)

LE8=(x+1)(x—-1)(5x—-6)(3x+5)]

A=(x-3)(x+3)(x+4)
2=(x=2)(x+2)(x=3)(x+3)
3=(x+5)(x*=5x+25)
d=(x-2)(x+2)(xX*+4)
S=(x+3)(x+2) (X +5x+1)
H=(x+2)(x+1)(x=2)(x=3)
J=(x+3)(3x-2)(3x+1)

L8=(x+2)(x+1)(3x+4)(2x—5).

T
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TNCEX®s=~3 B
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Real02 Answers for No.9476

1=[r=12]
2=[r=-7]
3=[r=5]7
4=[r=-7]

Ansl =|°
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Real02 Answers for No.9491

A=[r=12]
| 2=[r=3] 3
Ansl = 3=[r=3] [ Ans2 =
A4=[r=-6]

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKKKXKKXKKKKKKK XXX XXX KKK KKK KKK KK KKK KKK KKK KKKKKKK

Ans2 =

I=[m=0]
2=[m=18]
3=[m=-8] |

A=[m=1{-1,5}]

dA=[m=3]

2=[m=1]
3=[m={-1,7}]f

A4=[m=-2]

Ans3 =

I=(x=1)(x+1)(x—4)
2=(x-3)(x+3)(x—4)(x+4)
3=(x+5)(x*=5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+6)(x+4)(x+1)(x=2)
6=(x-1)(x=3)(xX"—x+2)
T=(x=2)(5x+1)(4x+1)

Ans3 =

LE=(x+1)(x—-1)(3x+5)(5x+3)_

A=(x-2)(x+2)(x+3)
2=(x=2)(x+2)(x—4)(x+4)
3=(x=3)(x*+3x+9)
4=(x=5)(x+5)(x"+25)
S=(x+2)(x-1) (X +2x+2)
6=(x+6)(x+1)(x=2)(x—4)
J=(x-3)4x-3)(5x-2)
| 8=(x+1)(x=1)(3x+5)(5x+2).

BNCEX®@s~2 X
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Real02 Answers for No.9633

Real02 Answers for No.9711

d=[r=3]
|2=[r=-14]
Ansl = 3=[r=-5]F
4=[r=-5]

Ans2 =

I=[m=-4]

2=[m=-4]

3=[m=6] |
d=[m=1{2,6}]

I=[m=0]

2=[m=0]

3=[m=-2]
d=[m={4,3"]

9

I=(x-3)(x+3)(x-5)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x-4)(x*+4x+16)
4=(x—4)(x+4)(x"+16)
S=(x+2)(x+1)(x*+5x+1)
O=(x+5)(x+1)(x—=3)(x—4)
J=(x=2)(4x-1)(2x-5)
L8=(x+1)(x-3)(3x-1)(3x—4)]

A=(x-1)(x+1)(x+2)
2=(x=3)(x+3)(x—4)(x+4)
3=(x-2)(X+2x+4)
d=(x—4)(x+4)(x*+16)
S=(x+3)(x+2) (X +5x+2)
6=(x+3)(x+2)(x+1)(x=5)
J=(x-1)2x-1)(5x-4)
L 8=(x+2)(x—=1)(2x=1)(2x+3)]

Ans3 =

BNCEX®@s~2 X
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Real02 Answers for No.9784

A=[r=18]
|.2=[r=17]
Ansl = So[r=-41)
4=[r=2]

Real02 Answers for No.10048

dA=[r=2]

|.2=[r=1]
Ansl = 3=[r=6]]

A4=[r=4]

I=[m=5]

| 2=[m=-15]
A= 3o m= (1,4}

4=[m=16]

d=[m=-4]
| 2=[m=3]
Ans2=1 5 =7 10)
A4=[m=0]

Ans3 =

A=(x-1)(x+1)(x-5)
2=(x-3)(x+3)(x=5)(x+5)
3=(x=5)(x*+5x+25)
4=(x—4)(x+4)(x"+16)
S=(x+4Y(x+3)(x-1)
6=(x+3)(x+2) (X +x+1)
J=(x+1)(3x+5)(5x+3)

LE=(x+3)(x—1)(4x+5)(3x+1)._

A=(x-3)(x+3)(x—-1)
2=(x=-2)(x+2)(x=3)(x+3)
B=(x+1)(xX=x+1)
4=(x=5)(x+5)(x*+25)
S=(x=2)(x=3)(F+x+1)
H=(x—-1)(x=2)(x=5)(x—6)
J=(x-3)(5x-6)(3x-1)

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXKXXXKXXXKX XKL KKK XKLL XKL XKL LKL KKK KKK LXK KKK KKK K KKKKKKKKKME /1-6400104-00009XX

NS>~ X

| 8=(x-2)(x+2)(5x+6)(3x—1).
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Real02 Answers for No.10143

A=[r=-1]

| .2=[r=8]
Ansl = 3=[r=2]f
A4=[r="7]

Real02 Answers for No.10359

d=[r=6]
|2=[r=-15]

Ansl = 3=[r=-6]
A4=[r=-7]

Ans2 =

Ans2 =

d=[m=0]

2=[m=-2]
B3=[m=1{3,5][

d=[m=1]

I=[m=0]

2=[m=4]
3=[m={-1,711f

4=[m=-4]

Ans3 =

A=(x-1)(x+1)(x+3)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+4)(x*-4x+16)
4=(x=3)(x+3)(x*+9)
SI=x+3)(x-1)(x-2)(x—4)
6=(x+3)(x+2) (X +4x+1)
T=(x+3)(2x+3)(4x-3)
LE8=(x-2)(x+1)(3x+5)(5x—-2)]

A=(x—-4)(x+4)(x+3)
2=(x=3)(x+3)(x—4)(x+4)
3=(x+2)(xX*=2x+4)
4=(x=3)(x+3)(xX*+9)
S=(x+1)(x-2)(x-5)(x—-6)
6=(x+2)(x=1) (X +5x+2)
T=(x+2)(2x-5)(2x+1)

Ans3 =

L8=(x+3)(x—=2)(5x+1)(4x+5)]
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TJ=(x-1)(2x-5)(4x+5)
L 8=(x—1Y(5x-4)(3x+5) |

Real02 Answers for No.10626
:D
J=(x=3)(x+3)(x+1) M
2=(x-1)(x+1)(x=2)(x+2) a
1=[r=6] 1=[m=-4] 3=(x+3) (X' =3x+9) ‘
2=[r=17] | 2=[m=-6] | A=(x=5) (x+5) (X7 +25) h
AnsE=\ 5 _eoa1p A2 3o tm=t5,711) T 5o D -4 k=5 | @
4=[r=4] 4=[m=-12] b=(x+2)(x-1)(x*—4x+1) M
U
T
:D
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A4=[r=4] Ad=[m={-7,1}] .6:(x+2)2(x—1)(x—2)
TJ=(x-2)3x-4)(2x+1)
LE=(x-3)(x-1)(3x—-1)(5x—-2)/

Real02 Answers for No.11002
:D
A=(x—-4)(x+4)(x-5) M
2=x-1)(x+1)(x=5)(x+5) a
d=[r=-19] d=[m=9] 3=(x+3)(x"-3x+9) ¢
| .2=[r=15] B 2=[m=0] B 4=(x-2)(x+2)(x*+4) h
Anst=l s tr=11 | 25 s=(m=4) | S S=(x+3)(x+2) (P +3x+1) @
M
U
T
:D

L
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Real02 Answers for No.11188

A=[r=6]
|.2=[r=-7]
Ansl = 3=[r=3]f
A4=[r=-1]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKXX XXX KKK KKK KKK KKK X XKX KKK KKK KKK KKK KKK K KKKKKXKKKXML /1-6400

Real02 Answers for No.11505

A=[r=4]

| 2=[r=5]
Ansl = 3=[r=7]f
A4=[r=-7]

Ans2 =

Ans

2=

d=[m=5]
2=[m=2]

3=[m=1{-6,5][
A=[m=6]

d=[m=3]
2=[m=0]
3=[m=-10] |

d=[m=1{3,7}]

Ans3 =

Ans3 =

I=(x=2)(x+2)(x—4)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+5)(x*=5x+25)
4=(x=3)(x+3)(x*+9)
S=(x+4)(x+3)(x+1)(x-95)
b=(x+1)(x=2)(xX*-4x+1)
7=(x=-3)3x-4)(5x—-1)

LE8=(x-2)(x+2)(5x—-2)(4x+5)]

A=(x-2)(x+2)(x+5)
2=(x-1)(x+1)(x=2)(x+2)
3=(x+5)(x*=5x+25)
4=(x—-4)(x+4)(x"+16)
S=(x-2)(x=-3)(xX"-4x+2)
6=(x+5)(x+2)(x+1)(x—4)
J=(x-1)(3x+5)(5x-6)

LE8=(x+1)(x—=1)(2x=5)(5x—-2)]
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Real02 Answers for No.12113

Ansl =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KKK KKK KKK KKXKKKM4E/1-6400104-00018XX

A =[r=-4]
2=[r=-11]
3=[r=-4]
A=[r=-1]

Real02 Answers for No.12541

Ansl =

X [Page = 0009]

A=[r=14]
2=[r=9]
3=[r=5]7
4=[r=-5]

Ans2 =

ns2 =

I=[m=0]
2=[m=-5]

4=[m=3]

d=[m=-1]
2=[m=-2]
3=[m=11]

4=[m=1{-57}]

3=[m=1{-7,-2110

b

Ans3 =

Ans3 =

LE8=(x+1)(x-3)(3x+1)(5x—-2)]

L 8=(x+2)(x=1)B3x+4)(4x—1)]

I=(x-4)(x+4)(x+5)
2=(x-1)(x+1)(x—4)(x+4)
3=(x+5)(x*=5x+25)
4=(x=5)(x+5)(x"+25)
S=x+2)(x+1)(x=3)(x-5)
6=(x+3)(x+1)(X*—4x+1)
J=(x+3)(2x-3)(2x-1)

A=(x-3)(x+3)(x+5)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+2)(x*=2x+4)
4=(x=5)(x+5)(x"+25)
S=(x+1)(x=3)(x¥*-x+1)
O=(x+5)(x-1)(x=2)(x-95)
J=(x+1)(5x—-4)(3x+1)

SNQOR® =~ XF
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Real02 Answers for No.12584

A=[r=2]
|.2=[r=-3] B
Ansl = 3=[r=-6]f Ans2 =

4=[r=2]

Real02 Answers for No.12590

A=[r=-2]
| 2=[r=28] B
Ansl = 3=[r=-6] Ans2 =
A4=[r=-5]

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXXXXKKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKKKKKK

d=[m=0]
2=[m=-3]
3=[m=8]

d=[m=1{-64"]

d=[m=2]

2=[m=4]

3=[m=-7]
A=[m=1{1,5}]

b

M

Ans3 =

Ans3 =

d=(x=5)(x+5)(x+1)
2=(x-3)(x+3)(x—4)(x+4)

3=(x-1) (P +x+1)

4=(x=2)(x+2)(x*+4)
S=(x+1)(x=2)(X*+4x+2)
O=(x+5)(x+3)(x+2)(x—1)
J=(x=3)3x+5)(3x+1)

LE8=(x+3)(x+1)(3x-5)(3x—-2)

A=(x-4)(x+4)(x—-2)
2=(x-4)(x+4)(x-5)(x+5)
3=(x+3)(x*=3x+9)
4=(x=5)(x+5)(x*+25)
S=(x-2)(x=-3) (X" +5x+2)
b=(x+4)(x+3)(x+1)(x=5)
J=(x+3)(4x-1)(3x+4)

L8=(x—-1)(x=2)(2x-3)(3x-5).

T
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Real02 Answers for No.12621

A =[r=-3]
_|.2=[r=13]
Ansl = 3=[r=3]}
A4=[r=35]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK K KKK KKK KKK KKK XKKXKKKXME /1-6400104-00022XX

Real02 Answers for No.12641

A=[r=-7]

| .2=[r=2]
Ansl = 3=[r=4]f
A=[r=-1]

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKXKXXKKKKKKX XXX XXX KKK KKK KKK KKK KKK KKK KKKKK

Ans2

d=[m=-3]
| 2=[m=4]
| 3=[m=3] |
A=[m=1{6,7}]

d=[m=4]
| 2=[m=-9]
Tl 3=[m=1{1,4}](
A=[m=12]

Ans3 =

Ans3 =

d=(x=5)(x+5)(x+3)
2=(x-2)(x+2)(x=3)(x+3)
3=(x-4)(xX*+4x+16)
d=(x-1)(x+1)(x*+1)
S=(x-1)(x=2)(x*-5x+1)
O6=(x-1)(x-2)(x—=3)(x—-06)
T=(x=2)(4x+3)(5x+3)

LE8=(x-2)(x+1)(2x—-5)(4x+3)]

A=(x-4)(x+4)(x+1)
2=(x=2)(x+2)(x—4)(x+4)
B=(x+1)(xX=x+1)
4=(x=-3)(x+3)(x*+9)
S=(x=1)(x=3)(xX*-x+2)
H=(x+4)(x+1)(x=2)(x=5)
J=(x+3)4x+1)(5x-4)

|8=(x+2)(x+1)(4x+3)(4x—1).

T
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Real02 Answers for No.12674

A=[r=-14]
2=[r=28]
I=[r=1]
A4=[r=-1]

M

Ansl =

Real02 Answers for No.12728

dA=[r=4]

| .2=[r=4]
Ansl = 3=[r=-71

A4=[r=3]

Ans

Ans2 =

2=

d=[m=12]
2=[m=4]

3=[m=1{-51]f
A=[m=1]

d=[m=-10]

2=[m=-2]

3=[m=-14]
4=[m=1{3,4}]

Ans3 =

d=(x-1)(x+1)(x-5)
2=(x-1)(x+1)(x=5)(x+5)
3=(x-1)(x+x+1)
4=(x—4)(x+4)(x*+16)
S=(x-1)(x=3)(x=5)
6=(x-2)(x=3)(X"+3x+1)
J=(x+1)(5x+2)(3x-2)

LE=(x+2)(x—-1)(3x+2)(2x+5)]

A=(x-3)(x+3)(x+4)
2=(x-1)(x+1)(x=3)(x+3)
3=(x=5)(x*+5x+25)
4=(x—-4)(x+4) (X" +16)

O=x+5)(x-1)(x-2)(x-5)
T=(x+2)(5x+4)(3x+1)

S=(x-2)(x=-3)(x¥"-2x+2) |

S=(x—1Y(4x+5)(5x-1) |

1

TNCX®@=~2 X
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Real02 Answers for No.13153

J=(x-1)(4x-3)(4x-5)
L8=(x+3)(x—-1)(5x-4)(3x—-2)]

:D

A=(x=5)(x+5)(x+1) M

2=(x-3)(x+3)(x=5)(x+5) a

1=[r=7] d=[m=-6] 3=(x=5)(x*+5x+25) !
_|.2=[r=15] | 2=[m=-2] | A== x+4) (P +16) h
Anst=l s _tr=21p 425 sotm=71 | T sspoh -2 - (-6) | | @
4=[r=5] A4=[m={-3,7}] b=(x+3)(x—1)(x*+4x+2) M

U

T

:D

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKXM4E /1-6400104-00026XX

Real02 Answers for No.13698
_ :D
A=(x-1)(x+1)(x+4)
2=x-1)(x+1)(x=3)(x+3)
3=(x+1)(x*=x+1)

d=[r=17] I=[m=2]
_|.2=[r=20] | 2=[m=0] 4= - D (D) (1)
A= 3=y T e ) T s m ) (-3 (P —dxs2) [
A=[r=1] A=[m=4] G=(x+2)(x+1)(x=2)(x=5)

J=(x+3)(3x-5)(3x-2)
L 8=(x+1)(4x-3)(4x-1) |

DNSRO®= -8 K
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Real02 Answers for No.644101

TJ=(x-3)3x-5)(3x+2)
LE=(x—-2)(x+2)(3x—-5)(3x+2)]

:D

A=(x-2)(x+2)(x—-1) M

2=(x-1)(x+1)(x—-4)(x+4) a

I=[r=-1] d=[m=-5] 3=(x-2)("+2x+4) !
_[2=[r=1] | 2=[m=-2] | A=) (7 16) h
Anst = 3=[r=4]7 Ans2 = 3=[m=4] 7T Ans3 = S=(x+1)(x-3)(x-x+1) | @
4=[r=4] 4=[m={5,6}] b6=(x+1)(x=3)(x—4)(x-5) M

U

T

:D

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXME /1-6400104-00028XX
Real02 Answers for No.644102

A=(x-2)(x+2)(x—1)
2=(x=-3)(x+3)(x=5)(x+5)
d=[r=-1] d=[m=4] 3=(x=2) (X +2x+4)

|.2=[r=-16] | 2=[m=0] _ 4=(x=-3)(x+3)(x*+9)
A= 3 pr=s1p T Gemm=s1 T siee ) (e D) (R x )
A=[r=-3] A=[m={-7,-1}] G6=(x+4)(x+3)(x=1)(x=5)

T=(x+2)(5x-1)(4x+3)
L8=(x+1)(x—1)(4x+1)(5x+3)]

SNCEX®s=~3 B
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Real02 Answers for No.644103

A=[r=12]
|.2=[r=-13]
Ansl = 3=[r=5] |

A=[r=-1]

Real02 Answers for No.644104

A=[r=0]

| 2=[r=9]
Ansl = S=[r=-71!

A4=[r=17]

Ans2 =

Ans2 =

A=[m=0]

2=[m=-1]
3=[m=-4]

A=[m={-7,1}]

d=[m=2]
2=[m=0]
3=[m=-10]
d=[m={2,-1}]

2

Ans3 =

A=(x-2)(x+2)(x+5)
2=(x-1)(x+1)(x—-4)(x+4)
3=(x+5)(x*=5x+25)
A=(x=2)(x+2) (¥ +4)
S=(x+1)(x=2)(x—4)(x=5)
H=(x+2)(x=1)(x*+x+1)
T=(x+2)(2x=5)(3x+2)

LE=(x+2)(x+3)(2x—-1)(3x—-1)]

A=(x-1)(x+1)(x+4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x—4)(x*+4x+16)
4=(x=-3)(x+3)(x*+9)
S=(x=-2)(x=-3)(x*+3x+1)
H=(x+5)(x+3)(x+1)(x=2)
T=(x+3)(4x-5)(5x-2)

| 8=(x+1)(x=3)(3x+2)(2x—5).

TNCX®@=~2 X
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Real02 Answers for No.644105

A=[r=8]
|.2=[r=-16]
Ansl = 3=[r=2]
A4=[r=-1]

Real02 Answers for No.644106

d=[r=5]
|.2=[r=20]
Ansl = 3=[r=-5]
A=[r=-4]

Ans2 =

d=[m=-18]
2=[m=5]
3=[m=-24] |

d=[m=1{1,5}]

d=[m=-3]
2=[m=-2]
3=[m=-4]

A=[m={-5-4}]

Ans3 =

Ans3 =

| 8=(x-2)(x=3)(2x+1)(4x-5).

I=(x=5)(x+5)(x—-2)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+2)(x*=2x+4)
4=(x=3)(x+3)(x*+9)
S=(x+5)(x+2)(x—1)(x—4)
6b=(x+1)(x-2)(x**=5x+2)
J=(x=1)B3x+4)(4x+1)

A=(x-4)(x+4)(x-2)
2=(x=3)(x+3)(x=5)(x+5)
B=(x+1)(xX=x+1)
d=(x—4)(x+4)(x*+16)
S=x+3)(x-1)(x-3)(x—4)
b=(x+1)(x=2) (X" +4x+1)
J=(x-3)(2x-3)(4x+1)

L 8=(x+3)(x=1)(3x-2)(4x+1).

BNCEX®@s~2 X
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Real02 Answers for No.644107

d=[r=4] d=[m=9]
|.2=[r=3] | 2=[m=-3]

Anst=| o 1 237p Am2=] 3 tm= 11,50 ]
4=[r=2] A=[m=-2]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK XKKXKKKM4E /1-6400104-00034XX

Real02 Answers for No.644108

A=[r=1] A=[m=1]

|- 2=[r=-8] 2=[m=0]

Ansl 3=[r=-5]] Ans2 3=[m=-6]
4=[r=1] A=[m={6,7}]

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XX XKKKKXXKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KK KKK KKKKKK

M

Ans3 =

A=(x-2)(x+2)(x+3)
2=(x-2)(x+2)(x=5)(x+5)

3=(x-2)(X"+2x+4)

A=(x=2)(x+2) (¥ +4)
S=(x+2)(x=1)(x=2)(x=5)
b=(x+2)(x=3)(x*—4x+2)
T=(x+2)2x-1)(5x+1)
LE=(x+1)(x-3)(3x—-2)(4x+3)]

A=(x-4)(x+4)(x+3)
2=(x-1)(x+1)(x—4)(x+4)
3=(x+2)(xX*=2x+4)
4=(x—-4)(x+4)(x"+16)
S=(x+1)(x=3) (" +4x+2)
6=(x+6)(x+5)(x+2)(x—1)
J=(x+3)4x+1)(3x+4)

L8=(x-3)(x+2)(2x+1)(3x+1).

tmNoE®s~s =5

TNCEX®s=~3 B
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Real02 Answers for No.644109

A=[r=-1]
_|.2=[r=16]
Ansl = 3=[r=-7]
A4=[r=4]

Real02 Answers for No.644110

A=[r=6]

|.2=[r=-1]
Ansl = 3=[r=2]]

A4=[r=-3]

A=[m=-4]

| 2=[m=-18] B

, Ans2 = S=[m={-5-111] Ans3 =
4=[m=06]

A=[m=-3]
B 2=[m=0] B
Ans2 = S=[m={1,71] Ans3 =
4=[m=0]

d=(x—4)(x+4)(x=2)
2=(x-1)(x+1)(x—-4)(x+4)
3=(x-2)(x"+2x+4)
d=(x—4)(x+4)(x*+16)
S=(x+2)(x=3) (X +5x+2)
O=(x+4)(x+2)(x—-1)(x-3)
J=(x+2)3x+2)(3x+1)

L8=(x-3)(x+2)(4x—1)(2x-3).

A=(x-5)(x+5)(x-2)
2=(x-2)(x+2)(x—4)(x+4)
B=(x+1)(xX=x+1)
d=(x-2)(x+2)(xX*+4)
S=x+3)(x+2)(x-1)(x-3)
b=(x+1)(x=2)(xX*+3x+1)
T=(x-2)3x+2)(4x-1)

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXKXXXKXXXKX XKL KKK XKLL XKL XKL LKL KKK KKK LXK KKK KKK K KKKKKKKKKMAL /1-6400104-00035XX

L8=(x+1)(x=3)(3x=2)(4x+5).
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Real02 Answers for No.644111

A=[r=5]
|.2=[r=-1]
Ansl = 3=[r=7])
A4=[r=-4]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KKK KKK KKK KKXKKKXM4E /1-6400104-00038XX

Real02 Answers for No.644112

A=[r=1]

| .2=[r=6]
Ansl = 3=[r=2]f
A=[r=-7]

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX KX XKKKKXXKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KK KK KKK KKKKKK

Ans

Ans2 =

2_

d=[m=-2]
2=[m=1]
3=[m=-9]

A=[m=1{-2-1}]

dA=[m=-1]
2=[m=1]
|3=[m=1{-5-4}](
A4=[m=-15]

Ans3 =

I=(x-4)(x+4)(x+2)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+4)(x*-4x+16)
4=(x—4)(x+4)(x*+16)
S=(x+4)(x+1)(x=2)(x=5)
H=(x+2)(x=3)(x*=3x+1)
J=(x+1)(5x+6)(3x+4)

L.8=(x+3)(x—=3)(3x+1)(3x-4)]

A=(x-2)(x+2)(x-3)
2=(x=3)(x+3)(x—4)(x+4)
3=(x=2)(X"+2x+4)
4=(x-3)(x+3)(x*+9)
S=(x+2)(x+1)(x*=5x+1) |
H=(x+5)(x+4)(x+3)(x+1)
T=(x-1)(4x+5)(4x-1)

L 8=(x+2)(2x-3)(5x+2) ]

Ans3 =

I

TNCX®=~2 X

SNCEX®s=~23 B
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T=(x=2)(4x+1)(3x+4)
L 8=(x+1(3x-2)(5x+1) ]

Real02 Answers for No.644113
_ _ :D
A=(x-2)(x+2)(x-3) M
2=(x-1)(x+1)(x-4)(x+4) a
A=[r=0] d=[m=4] .3=(x—1>(x2+x2+1) ‘
| 2=[r=T7] B 2=[m=-16] B A4=(x—-4)(x+4)(x"+16) h
Ansl = 3=[r=21f Ans2 = S=[m={-7.-411] Ans3 = .5:(x+3)2(x—l)(x—6) >l @
4=[r=2] 4=[m=28] 6=(x+3)(x+1) (X +x+2) M
U
T
:D

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK LXK KKK KKK KKK KKK XKKXKKKXM4E /1-6400104-00040XX

1
1

J=(x+1)3x+1)(3x-2)
L.8=(x+2)(x+1)(5x-4)(2x-5)]

Real02 Answers for No.644114
:D
A=(x-2)(x+2)(x+5) M
2=(x-1)(x+1)(x—4)(x+4) u
d=[r=3] d=[m=-2] 3=(x+2)(xX*=2x+4) t
2=[r=-1] 2=[m=-15] 4=(x=-3)(x+3)(x*+9) h
Ansl = Ans2 = Ans3 =
P == Y 3=[m=81 [ S=(x+3)(x-2) (X" +2x+2) | @
A4=[r=-6] A=[m={-6,-4}] H=(x+3)(x+1)(x=2)(x—4) M
U
T
:D
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Real02 Answers for No.644115

A=[r=3]
|.2=[r=10]
Ansl = 3=[r=5] !
A4=[r=-2]

Real02 Answers for No.644116

A=[r=-2]

| .2=[r=6]
Ansl = 3=[r=3]]

A4=[r=4]

Ans2 =

Ans2 =

d=[m=9]

2=[m=0]
3=[m=1{-7,-311f

4=[m=0]

d=[m=20]
2=[m=4]

3=[m=1{57"7}1(
A4=[m=4]

Ans3 =

Ans3 =

I=(x-4)(x+4)(x+2)
2=(x-2)(x+2)(x-3)(x+3)
3=(x=5)(x*+5x+25)
4=(x=5)(x+5)(x*+25)
S=x+5)(x-1)(x-2)(x—4)
6=(x+1)(x=2)(x¥*=2x+2)
7=(x=2)(5x-3)(3x-5)

LE=(x—-2)(x+1)(3x+5)(3x+1)]

A=(x-2)(x+2)(x+4)
2=(x-4)(x+4)(x-5)(x+5)
3=(x+4)(x*—4x+16)
4=(x=5)(x+5)(x*+25)
S=(x=1)(x=3)(xX*-x+2)
6H=(x+6)(x+4)(x+2)(x—-1)
J=(x+1)(5x+2)(3x+4)

L8=(x+2)(x+1)(3x+5)(4x+1).
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Real02 Answers for No.644117

[r=-4]
r=-17]
3=[r=1] 7
A4=[r=-2]

=
Ansl = 2=1
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Real02 Answers for No.644118

d=[r=11]
| 2=[r=38]
Ansl = 3=[r=21"
4=[r=4]
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Ans2 =

ns2 =

I=[m=0]

2=[m=2]
3=[m=1{3,-210

A=[m=4]

A=[m=0]

2=[m=4]
S=[m={-1,2}](

A4=[m=-5]

Ans3 =

Ans3 =

I=(x-4)(x+4)(x-3)
2=(x-1)(x+1)(x—4)(x+4)
3=(x=5)(x*+5x+25)
4=(x-2)(x+2)(x*+4)
S=(x+5)(x+2)(x+1)(x—4)
6=(x+3)(x+1)(X*—4x+1)
J=(x=1)(5x-4)(4x+1)

LE8=(x-2)(x+2)(2x+3)(2x+1)]

A=(x-5)(x+5)(x+2)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+1)(x*=x+1)
A=(x-2)(x+2)(x*+4)

S=(x+1)(x=2)(*=5x+1) |

b=(x-1)(x-2)(x—4)(x-5)
J=(x-3)3x-4)(5x-1)

8=(x-3YBx=-2)(5x-2) |

:D

TNQX@® >~ X
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Real02 Answers for No.644119

A=[r=12]

| .2=[r=6]
Ansl = S=[r=-71" An

A4=[r=-3]

Real02 Answers for No.644120

A=[r=-4]
|.2=[r=-13]
Ansl = S=[r=-4] |
A4=[r=-5]

s2 =

d=[m=0]
2=[m=1] B
Se(m=17] | A=
A=[m=1{-7,2}]

Ans2 =

A4

I=(x-2)(x+2)(x-3)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+2)(x*=2x+4)
4=(x=3)(x+3)(x*+9)
S=(x+5)(x+3)(x+2)(x+1)
b=(x+1)(x-2)(x*"=2x+2)
J=(x+1)3x-4)(2x+3)

d=[m=9]
2=[m=-2] -
3=[m=18] [ Am3=

m=1{1,4}]

I
m—

LE8=(x—-1)(x+3)(4x-3)(5x+1).

A=(x-4)(x+4)(x—-1)
2=(x=2)(x+2)(x—4)(x+4)
3=(x+1)(x*=x+1)
4=(x=-3)(x+3)(x*+9)
S=(x+2)(x-1) (X +5x+2)
6=(x+3)(x=1)(x=2)(x=5)
J=(x-2)3x-4)(3x+1)

BNCEX®@s~2 X
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| 8=(x+3)(x+2)(2x+1)(5x-3).

SNQOR® =~ XF

L

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXKKKK XXX KKKKKK KKK XXX XXX KKK KKK KKK KKK KKK KKK KKKKKKK



Real02 Answers for No.644121

I1=[r=-19]
| 2=[r=-9]
Ansl 3=[r=-5]

4=[r=5]

Real02 Answers for No.644122

A=[r=-5]

| 2=[r=5]
Ansl = S=[r=-1]]

A4=[r=-5]

Ans

2=

A=[m=2]

2=[m=0]

3=[m=-2]
A=[m=1{3,7}]

d=[m=-5]

2=[m=0]

3=[m=9]
d=[m=1{-7,2}]

b

b

Ans3 =

d=(x—4)(x+4)(x-3)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-4)(x*+4x+16)
4=(x—4)(x+4)(x"+16)
S=(x+6)(x+3)(x+2) (x+1)
6b=(x-1)(x=3)(X"+5x+1)
J=(x-1)3x=-5)(3x+1)

Ans3 =

LE=(x—-1)(x+2)(5x—-6)(2x+3).

A=(x-3)(x+3)(x-5)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-1)(*+x+1)
4=(x—-4)(x+4)(x"+16)
S=(x+6)(x+2)(x—1)(x—-95)
6=(x+3)(x+2) (X +5x+1)
J=(x-3)2x-1)(3x+2)

L8=(x—-1)(x=2)(3x+5)(5x-3)]
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Real02 Answers for No.644123

A=[r=35]

| 2=[r=4]
Ansl = 3=[r=-11f

A4=[r=35]

Real02 Answers for No.644124

A=[r=0]

|2=[r=11]
Ansl = S=[r=-4]f

A4=[r=-7]

Ans2 =

Ans2 =

d=[m=0]

2=[m=2]

3=[m=9]
d=[m=1{-6,3}]

d=[m=4]
2=[m=-9]
3=[m=13]

A=[m=1{-571}]

b

b

Ans3 =

Ans3 =

S=(x-1)(x+1)(4x-5)(5x—4)]

d=(x=3)(x+3)(x+2)
2=(x-1)(x+1)(x—4)(x+4)
3=(x-4)(xX*+4x+16)
A=(x-2)(x+2)(x*+4)
S=x+5)(x+2)(x+1)(x-95)
6=(x+3)(x=1)(x¥"=x+1)
J=(x+3)(2x-3)(3x+2)

A=(x-1)(x+1)(x+4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+4)(x*-4x+16)
Ad=(x-2)(x+2)(x"+4)
S=x+5)(x+1)(x-3)(x—4)
6b=(x+3)(x-1) (X +3x+1)

T=(x+2)2x+5)(5x-3)

L8=(x—=-1)(x+1)(4x-5)(2x-3)]
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Real02 Answers for No.644125

A=[r=-5]

| .2=[r=6]
Ansl = S=[r=1])
A4=[r="7]

Real02 Answers for No.644126

d=[r=17]
2=[r=-6]

A4=[r=5]

Ansl = 3=[r=-4]f

Ans2 =

Ans2 =

A=[m=-2]
2=[m=2] B
3=[m=-23] | Ans3 =

A=[m=1{-2,7}]

d=(x-4)(x+4)(x+2)
2=(x-1)(x+1)(x=5)(x+5)
3=(x+4)(x*-4x+16)
Ad=(x-1)(x+1)(x*+1)
S=(x+3)(x+2)(F+x+1) [
O=(x+3)(x+2)(x+1)(x—4)
J=(x-1)(4x-3)(4x-1)

1=[m=0]

2=[m=2] B
3=[m=1{-3,4}] 4™3=

4=[m=0]

L8=(x=-3)(x+1)(5x-4)(3x—-1)]

A=(x-5)(x+5)(x+1)
2=(x=1)(x+1)(x—4)(x+4)
3=(x-2)(x*+2x+4)
d=(x-1)(x+1)(x*+1)
S=(x+2)(x+ 1) (X" +4x+2)
H=(x+2)(x+1)(x=2)(x—4)

J=(x-3)3x+2)(5x-2)
L8=(x—1)(x—2)(5x+4)(3x—-2)]
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Real02 Answers for No.644127

d=[r=1]

| .2=[r=8]
Ansl = 3[r=-11f
A4=[r=6]

Real02 Answers for No.644128

d=[r=19]
|.2=[r=13]

Ansl = 3=[r=-5]
4=[r=6]

A=[m=-16]
B 2=[m=0]
Ans2 = 3=[m=0]

A=[m=1{-2,6}]

A=[m=-4]
| 2=[m=0]
Ans2 = 3=[m=-3]

A=[m=1{1,5}]

M

b

Ans3 =

Ans3 =

d=(x=5)(x+5)(x—4)
2=(x-4)(x+4)(x—=5)(x+5)
S=(x+1)(xX*-x+1)
4=(x=3)(x+3)(x*+9)
S=(x+3)(x+1) (X +4x+2)
O=(x+1)(x-2)(x—4)(x—-95)
T=(x=2)(4x+3)(5x+3)

LE8=(x+3)(x+2)(5x—-4)(4x+1)]

A=(x-1)(x+1)(x+4)
2=(x=2)(x+2)(x—4)(x+4)
3=(x+5)(xX*=5x+25)
4=(x=5)(x+5)(x"+25)
S=(x-1)(x=-3)(*+3x+1)
6=(x+5)(x+3)(x+2)(x—1)
J=(x+3)(5x+4)(4x-1)

| 8=(x-2)(x-3)(5x+2)(3x-2).
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Real02 Answers for No.644129

J=(x-1)(2x+3)(4x-1)
L 8=(x+2)(5x-1)(2x-1) |

:D

A=(x-1)(x+1)(x+3) M

2=(x-1)(x+1)(x—4)(x+4) a

I=[r=17] d=[m=9] 3=(x+4)(x"-4x+16) t
|.2=[r=18] | 2=[m=-4] 4= -2 (x+2) (¢ +4) h
AnsE=1 5 o3 b A2 5o mm= 1,301 T sce e 2) - D (- | @
4=[r=3] A4=[m=-1] 6=(x+3)(x+1)(x*-2x+2) M

U

T

:D
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Real02 Answers for No.644130

T=(x-2)4x-5)(5x+1)
LE8=(x+3)(x+1)(5x+6)(4x+1)]

:D

A=(x-5)(x+5)(x+3) M

2=(x-1)(x+1)(x=2)(x+2) u

d=[r=12] d=[m=-1] 3=(x+4)(xX*—4x+16) t
|.2=[r=-20] | 2=[m=9] _ A=(x-1)(x+1)(x*+1) h
ST s rmst | M e m= 17,300 T i e (Pasdesny || @
A4=[r=-6] A=[m=-12] 6=(x+5)(x+1)(x—2)(x-4) M

U

T

:D
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